Sub test() ' #it CEEF And) H} YouTube 55 93 [
Dim p As Variant == vba93_before.xlsx

Dim p2(1 To 48,1 To 10) As Variant

Dim g As Integer, ¢ As Integer e TR S N
Dim i As Integer, r As Integer, j As Integer L'Ck‘:e/u’%i-j?;{‘;i '
. . FERFLCAE D
Dim ws2 As Worksheet, ws4 As Worksheet = SDEAE?
Set ws2 = Worksheets("Sheet2")
Set ws4 = Worksheets("Sheet4")
p = ws4.Range("a1").CurrentRegion.Value
g = UBound(p, 1) - j
¢ = UBound(p, 2)
j=1 o(i, 3) >= 2000 Or p(i, 9) >= 3000
FOFI=2T09 . . "9 =l
If p(i, 3) >= 2000 And p(i, 3) <= 6000 Then pli, 1) Like "7 B2
Forr=1Toc
p2(j, r) = p(i, r) p(i, 9) Like "###"
Next r
j=j+1 CTE&%@LZ&@ 2 p(i, 1) Like "[ BBERE 1*"
End If
Next i

p(i, 1) Like "*[! & 1"
' I—UY—bh2ICEEHL

. H : "% L
ws2.Range("a2").Resize(g, c).Value = p2 p(i, 7) Like "*[ & - &5 ]
End Sub
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RS (5 92 EOREME) ﬂ: YouTube & 92 [
Sub test() '92_ 1 HEEERE == vba92 before.xlsx

Dim p As Variant

Dim p2(1 To 48, 1 To 10) As Variant

Dim g As Integer, c As Integer

Dim i As Integer, r As Integer, j As Integer
Dim ws4 As Worksheet, ws6 As Worksheet

Set ws4 = Worksheets("Sheet4")
Set ws6 = Worksheets("Sheet6")
p = ws4.Range("al1").CurrentRegion.Value
g = UBound(p, 1)
c = UBound(p, 2)
j=1
Fori=2Tog
If p(i, 6) <= 30 Then
Forr=1Toc
p2(j, r) = p(i, r)

Next r

j=j+1

End If
Next i
ws6.Range("a2"). Re5|ze(g, 1).Value = WorksheetFunction.Index(p2, 0, 1)
ws6.Range("b2").Resize(g, 1).Value = WorksheetFunction.Index(p2, 0, 4)
ws6.Range("c2").Resize(g, 1).Value = WorksheetFunction.Index(p2, 0, 6)
End Sub

Sub test2() '92_2 HEEERE
Dim p As Variant
Dim p2(1 To 48, 1 To 10) As Variant
Dim g As Integer, c As Integer
Dim i As Integer, r As Integer, j As Integer
Dim ws4 As Worksheet, ws7 As Worksheet

Set ws4 = Worksheets("Sheet4")
Set ws7 = Worksheets("Sheet7")
p = ws4.Range("a1").CurrentRegion.Value
g = UBound(p, 1)
¢ = UBound(p, 2)
j=1
Fori=2Tog
If InStr(p(i, 4)," K ") >=1Then
Forr=1Toc
p2(j, r) = p(i,r)

Next r
j=j+1
End If
Next i
ws7.Range("a2") Re e(g, 1).Value = WorksheetFunction.Index(p2, 0, 4)
ws7.Range("b2").Resize(g, 1).Value = WorksheetFunction.Index(p2, 0, 5)
ws7.Range("c2").Resize(g, 1).Value = WorksheetFunction.Index(p2, 0, 7)

End Sub



